Panamá, un país por descubrir
Comprensión de lectura

La respuesta en NEGRITA es la correcta

OPCIONES

	1
	a) tiene
	b) hay
	c) está

	2
	a) además
	b) también
	c) por tanto

	3
	a) se
	b) le
	c) lo

	4
	a) que
	b) como
	c) de

	5
	a) es
	b) está
	c) hay

	6
	a) el que
	b) que
	c) donde

	7
	a) formas
	b) experiencias
	c) maneras

	8
	a) bueno
	b) bien
	c) mal

	9
	a) sobre
	b) por
	c) entre

	10
	a) de
	b) que
	c) como

	11
	a) en
	b) con
	c) a

	12
	a) están
	b) estén
	c) estuvieran

	13
	a) tantas
	b) cuántas
	c) ambas

	14
	a) practicar
	b) practicara
	c) practicando

	15
	a) a
	b) de
	c) por

	16
	a) divisar
	b) divisan
	c) divisen

	17
	a) jugada
	b) práctica
	c) deporte

	18
	a) todo
	b) toda
	c) total

	19
	a) que
	b) los que
	c) cuyos

	20
	a) principiantes
	b) expertos
	c) profesionales


